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       Answer  any FIVE of the following : 5X14 =70
 
 

 

1. Attempt a  critique   

2.  

3. Attempt  an examination of the philosophical  foundations of the Romantic  thought 

that define  the writings of Wordsworth OR Coleridge. 

4. What is the  nature  of  literary  work  according  to  New  Criticism? 

5.  

6. How convincing  is Eliot when  he attempts  to co-relate his concept of   tradition and  

the individual  talent ?  

7. How different is Foucault from  Barthes in his conception of the  role of the author in 

a text ? 

8. Is  

9. 
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10. Write  short notes  on : 

i) Popular  Art and   cultural Studies 

ii) Archetypal  criticism 

        (Q.No.11 is compulsory for  80 marks  scheme only) 1X10=10
 
 

 

11. a) Attempt a critique of  the  - . 

OR 

b) Write  an essay  on the Romantic  philosophy  which provides the conceptual      

    frame work for the romantic poets. 
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